

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SLA 2128E

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRONT DOOR O/S	BENT	925.00	925.00
1	FRONT DOOR UPPER HINGE O/S	TO REPAIR SEE LABOUR	62.00	-
1	FRONT DOOR LOWER HINGE O/S	TO REPAIR SEE LABOUR	62.00	-
1	FRONT DOOR WEATHERSTRIP O/S	SERVICEABLE	185.00	-
1	FRONT DOOR INNER LOCK O/S	TO REPAIR SEE LABOUR	346.00	-
1	FRONT DOOR INNER TRIM BOARD O/S	SERVICEABLE	572.00	-
1	FRONT DOOR OUTER HANDLE O/S	SERVICEABLE	213.00	-
1	FRONT DOOR LOCK CYLINDER O/S	SERVICEABLE	134.00	-
1	FRONT DOOR WINDOW CHANNEL O/S	SERVICEABLE	104.00	-
1	FRONT DOOR WINDOW CHANNEL MOULDING O/S	SERVICEABLE	65.00	-
1	FRONT DOOR WINDOW REGULATOR O/S	SERVICEABLE	269.00	-
1	FRONT DOOR WINDOW REGULATOR MOTOR O/S	SERVICEABLE	383.00	-
4	FRONT DOOR STOPPER O/S @\$7.90	SERVICEABLE	31.60	-
1	FRONT DOOR LOCK STRIKER O/S	SERVICEABLE	65.00	-
1	FRONT DOOR CHECKER O/S	SERVICEABLE	59.00	-
1	REAR DOOR O/S	BENT	828.00	828.00
1	REAR DOOR UPPER HINGE O/S	TO REPAIR SEE LABOUR	62.00	-
1	REAR DOOR LOWER HINGE O/S	TO REPAIR SEE LABOUR	62.00	-
1	REAR DOOR WEATHERSTRIP O/S	SERVICEABLE	185.00	-
1	REAR DOOR INNER LOCK O/S	SERVICEABLE	316.00	-
1	REAR DOOR INNER TRIM BOARD O/S	SERVICEABLE	572.00	-
1	REAR DOOR OUTER HANDLE O/S	SERVICEABLE	253.00	-
1	REAR DOOR WINDOW CHANNEL O/S	SERVICEABLE	104.00	-
1	REAR DOOR WINDOW CHANNEL MOULDING O/S	SERVICEABLE	65.00	-
1	REAR DOOR WINDOW REGULATOR O/S	DISTORTED	269.00	269.00
1	REAR DOOR WINDOW REGULATOR MOTOR O/S	JAMMED	383.00	383.00
4	REAR DOOR STOPPER O/S @\$7.90	SERVICEABLE	31.60	-
1	REAR DOOR LOCK STRICKER O/S	SERVICEABLE	43.00	-

Report Ref No. CS/LIP22013029/Kvy3m4



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR DOOR CHECKER O/S	SERVICEABLE	59.00	-
1	FRONT FENDER O/S	BENT	764.00	764.00
1	FRONT FENDER COWLING O/S	TORN	187.00	187.00
1	FRONT SHOCK ABSORBER O/S	BENT	485.00	485.00
1	FRONT SHOCK ABSORBER TOP MOUNTING O/S	BENT	98.00	98.00
1	FRONT SHOCK ABSORBER TOP BEARING O/S	NECESSARY	62.00	62.00
1	FRONT KNUCKLE ARM O/S	BENT	389.00	389.00
1	FRONT KNUCKLE BEARING O/S	NECESSARY	187.00	187.00
1	FRONT LOWER ARM O/S	DISTORTED	379.00	379.00
1	ANTI ROLL BAR ENDLINK O/S	DISTORTED	145.00	145.00
1	REAR FENDER O/S	TO REPAIR SEE LABOUR	702.00	-
1	REAR FENDER COWLING O/S	SERVICEABLE	185.00	-
1	REAR FENDER SPLASH GUARD O/S	SERVICEABLE	76.00	-
1	REAR BUMPER	BUCKLED	676.00	676.00
2	REAR BUMPER RETAINER @\$85.00	DISTORTED (1PIECE ONLY)	170.00	85.00
1	REAR AXLE	SERVICEABLE	1,321.00	-
1	REAR SHOCK ABSORBER O/S	SERVICEABLE	355.00	-
1	REAR SHOCK ABSORBER TOP MOUNT O/S	SERVICEABLE	53.00	-
1	REAR SPRING O/S	SERVICEABLE	165.00	-
1	REAR WHEEL HUB O/S	SERVICEABLE	366.00	-
1	ROCKER PANEL SKIRTING O/S	SERVICEABLE	515.00	-
1	ROCKER PANEL O/S	TO REPAIR SEE LABOUR	623.00	-
1	WING MIRROR ASSY O/S	NOT NECESSARY	451.00	-
1	FRONT FENDER INNER PANEL O/S	BENT	693.00	693.00
1	FRONT FENDER SIGNAL LAMP O/S	MISSING	125.00	125.00
1	FRONT BUMPER	TORN	695.00	695.00
2	FRONT BUMPER SIDE RETAINER @\$53.00	CRACKED	106.00	106.00
1	FRONT BUMPER INNER SPONGE	SERVICEABLE	138.00	-
1	HEADLAMP O/S	BROKEN	950.00	950.00
1	HEADLAMP TOP PANEL O/S	BENT	160.00	160.00
	LESS 25% DISCOUNT		-4,482.30	-2,147.75

Report Ref No. CS/LIP22013029/Kvy3m4



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
			13,446.90	6,443.25
	SPECIAL NETT ITEMS			
8	FRONT DOOR INNER TRIM BOARD CLIPS O/S @\$5.50 (SN)	NOT NECESSARY	44.00	-
8	REAR DOOR INNER TRIM BOARD CLIPS O/S @\$5.50 (SN)	NOT NECESSARY	44.00	-
8	FRONT FENDER COWLING CLIPS O/S @\$5.50 (SN)	NECESSARY	44.00	44.00
8	REAR FENDER COWLING CLIPS O/S @\$5.50 (SN)	NOT NECESSARY	44.00	-
24	FRONT & REAR BUMPER CLIPS @\$5.50 (SN)	NECESSARY	132.00	132.00
1	ROCKER PANEL SEALANT O/S (SN)	NOT NECESSARY	80.00	-
1	FRONT ALLOY WHEEL O/S (SN)	DENTED	450.00	280.00
1	REAR ALLOY WHEEL O/S (SN)	SERVICEABLE	450.00	-
1	FRONT TYRE O/S (SN)	SERVICEABLE	280.00	-
1	REAR TYRE O/S (SN)	SERVICEABLE	280.00	-
1	SUNDRIES (SN)	NOT NECESSARY	50.00	-
			1,898.00	456.00
	<u>LABOUR</u>			
	TO DISMANTLE / RENEW THE ACCIDENT DAMAGED PORTION. TO PANEL BEAT, RESHAPE, STRAIGHTEN, ORIENTATE AND ALIGN REPAIR / REPLACEMENT PARTS. INCLUSIVE OF THE REPAIR OF FRONT DOOR UPPER HINGE O/S, FRONT DOOR LOWER HINGE O/S, FRONT DOOR INNER LOCK O/S, REAR DOOR UPPER HINGE O/S, REAR DOOR LOWER HINGE O/S, REAR FENDER O/S AND ROCKER PANEL O/S.		1,800.00	1,100.00
	TO DISCONNECT BOTH O/S DOORS WIRE HARNESS AND ELECTRICAL COMPONENT TO FACILITATE REPAIRS, RECONNECT AND CHECK FUNCTIONS OF POWER WINDOWS.		100.00	100.00
	TO RUST PROOF ALL AFFECTED PORTIONS AFTER REPAIR.		100.00	100.00
	TO REMOVE AND REFIT BOTH O/S TYRES & RIMS FOR REPLACEMENT. TO PERFORM TYRE BALANCING.		100.00	20.00
	TO REMOVE AND REFIT O/S FRONT UNDERCARRIAGE FOR REPLACEMENT OF PARTS.		400.00	200.00
	TO CONDUCT COMPUTERIZED 4 WHEEL ALIGNMENT.		100.00	60.00

Report Ref No. CS/LIP22013029/Kvy3m4



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	SUPPLY SPRAY PAINT MATERIAL AND NECESSARY ITEMS TO RESPRAY AFFECTED AREA / PANEL.		1,600.00	1,400.00
			4,200.00	2,980.00
	GRAND TOTAL		19,544.90	9,879.25

RECOMMENDED COST OF LUMP SUM REPAIRS		5,500.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CS/LIP22013029/Kvy3m4

MARKET VALUE: \$7,500.00 (EST)-LTA REIMBURSEMENT VALUE: \$1,873.00=NETT VALUE: \$5,627.00

KONG SENG CHEONG

**Licensed Appraiser**